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FAxk HRBESKAGFELES GIRTEER(—)ER) 1 (B {1 ="9%)
#a 4] — = - *4‘ - L F0EDLY SR
#h =3 &t WER-ER | BARGER | FHE-ER | TOHRESR
A B A B A B A B A B A B A B
£ H -43| -46| -56| -58| -59| -60| —-41| -45|-157|-158| -74| -715| -30( -3.1
104BTH -35( -35| -42| -42| -58| -58| -22| -22|-163|-163| -82| -82| -20( -20
AL -10.3| -10.3 | -5.8| -5.8| -85| -8.5| -3.8| -3.8|-24.1|-24.1|-13.3|-13.3| -7.7| -7.7
il -12.2| -12.2 | -16.6 | -16.6 | -17.6 | -17.6 [ -16.5 | -16.5 [ -12.0 [ -12.0 | -18.5 | -18.5 | -17.0 | -17.0
B 07| 07| -0.8| -0.8| -3.1| -3.1 1.7 1.7|-12.4 | -124 | -1.4| -1.4] 09| 0.9
T i 28| 28| -7.8| -7.8| -9.7| —9.7| -6.6| —6.6|-16.8]|-16.8| -2.7| -2.7| -1.7| -1.7
E Y 70| -70| 2.3 -2.3| 49| 49| -2.7| -2.7|-17.4]|-17.4| -2.0| -2.0| -59| -5.9
AR -8.0| -8.0| -5.3| -5.3|-12.6|-12.6| -1.8| -1.8|-23.4|-23.4| -9.4| -9.4| -6.8| -6.8
NI 59| 59| 66| 6.6| 86| 86| -3.8| -3.8|-15.4|-15.4|-18.8|-18.8| -3.4| -3.4
Eal -1.9( -1.9 2.7 2.71-23.9[-23.9 7.7 7.7 -19.7|-19.7| -5.9| -5.9[-11.7 | -11.7
Nz -15.8 | -15.8 | —21.7 | —21.7 | -26.4 | -26.4 [ -20.1 | —20.1 [ —27.3 [ -27.3 | -26.0 | -26.0 | -3.3| -3.3
el -2.1| -2.1|-108]-10.8| -6.8| —6.8]|-10.2|-10.2]-23.1]|-23.1| -9.6| -9.6| 49| 4.9
o@ms oMKl 62| 71 —92(-100| -65| 69| —96-107|-144(-149| -62| -65| -60| -6.6
Bl S 79| -79|-14.5|-145| -8.0| -8.0|-15.6 | -15.6 | -31.7 | -31.7| -7.2| -7.2| -8.1| -8.1
Wik -8.7| -8.7|-14.4|-14.4|-11.9|-11.9 | -158 | -15.8| -8.2| -8.2|-13.4|-13.4| -3.6| -3.6
BA -6.8| -88| -8.5|-10.5| 5.5 -6.5| -9.3|-11.8|-14.1|-15.2| -4.1| -4.8| -6.6| -7.8
HEs 57| 5.7 12.1| 12.1| 374 37.4| 14.0| 14.0| -55| -55|-285[-285| 3.9| 3.9
Sl 72| -72|-12.6|-12.6 | -5.2| -5.2|-13.5|-13.5|-17.4 | -17.4 | -10.2|-10.2| -9.4| -9.4
iE -11.5| -11.5 | -16.7 | -16.7 | -16.4 | -16.4 [ -16.5 | -16.5 [ -22.2 | -22.2 | -14.6 | -14.6 | -10.5 | -10.5
S| 94| -94|-12.2]-12.2| -7.9| -7.9|-13.9|-13.9| 87| 87| -9.9| 99| 66| -6.6
Ju -45| -45|-11.1]-11.1|-16.2 | -16.2 | -12.0 | -12.0 | -13.7 | -13.7| 7.8| 7.8| -4.6| -4.6
A=ESNBERAREE. B=F%a
Faxk HRFESAFTELES CIRIEER(—)FE) 2 (BAI=%)
¥ K X E A &
#h =3 &t e |2H-=t-82E  Totgs H ® B R B ZOMRERR
A B A B A B A B A B A B A B A B
2 = 23| -25| -24| -26 10| o08]-101|-107|-125|-127| -65| -6.9|-11.9|-11.9|-15.1 | -153
1048 -11| -11| -23| -23 27| 27| -91| -91|-138|-138| -70| -70| -80| -80|-176 | -17.6
. 86| 86| -5.0| -5.0| —-9.4| -9.4|-21.5|-21.5|-15.6|-15.6|-13.3 | -13.3| -10.4 | -10.4 | -16.4 | -16.4
=y 75| 75| 03] 03[-105]|-105]|-11.5|-11.5| -9.9| 9.9 -3.0| -3.0| 30.6| 30.6|-12.5|-12.5
WL 5.6 5.6 4.7 4.7 11.0| 11.0| -6.0| -6.0|-13.2|-13.2| -5.2| -5.2| -5.1| -5.1|-19.1|-19.1
Rt 1.2 1.2 -08| -0.8| 51| 51| -1.7| -1.7| 85| -85 -7.3| -7.3|-45.9|-45.9| -1.7| -7.7
4t R -10.7 | -10.7 | -6.4| -6.4|-11.6|-11.6 [ -24.1 | -24.1 | -22.7 [ -22.7 | -18.5 | -18.5 | -87.4 | -87.4 | -23.7 | -23.7
A 7.0 -70| -3.3| -3.3| -8.1| -8.1|-14.1|-14.1|-16.3 | -16.3 | -19.9 [ -19.9 | -42.4 | -42.4 | -12.3 | -12.3
N 6.7 -6.7|-13.7]|-13.7| 0.4| 04| -88| -88| —9.0| -9.0| 2.0| 2.0 155 155 -14.1|-14.1
Fioa 29| 29| -72| -72| 56| 56| -46| -46|-23.5|-235( -9.6| 96| — | — |-27.4|-27.4
N -20.5| —20.5| -5.0| -5.0|-20.8|-20.8|-41.9|-41.9|-18.9 | -18.9 | -29.3|-29.3|-23.9|-23.9| —-8.6| -8.6
el 26| 26| 27| -27| 70| 70| -9.9| -9.9|-10.1|-10.1]| 225| 22.5|-16.8|-16.8|-25.9 [ -25.9
ot omE| 55| —64( —27( -34| -51| -57(-120(-140| -92(-101| -52| -66|-342|-342| -91| -99
JeiEE -3.8| -3.8| -2.0| 2.0 -5.6| -5.6|-10.0|-10.0 |-16.4|-16.4| 76| 76| — | — |-24.4|-24.4
wk -5.1| -5.1 1.0 1.0[-208|-208| 02| o02|-135(-135( 93| 9.3]|-11.1]|-11.1|-17.6|-17.6
BA R 7.7 9.7 -1.3| -2.7|-12.4|-13.7|-12.9| -16.7 | -11.8 | -13.8 | -4.7| -7.8 | -46.1 | -46.1 | -13.6 | -15.3
Rl 16.4| 16.4| -43| -43| 527 52.7-11.9| -11.9| 22.7| 22.7| 39.8| 39.8|-50.2|-50.2| 22.4| 22.4
biiR- 77| -1.7| -4.0| -4.0[-20.6|-206| -1.9| -1.9[-13.2|-13.2 [ -16.4 | -16.4 | -29.8 | -29.8 | -11.6 | -11.6
E 86| -86|-12.2]-12.2| -2.9| —2.9|-14.2|-14.2|-18.9|-18.9| -1.0| -1.0| -49.2 | -49.2 | -25.0 [ -25.0
Y| -3.7| 3.7 -1.8| -1.8| -1.2| -1.2|-15.5| -15.5 | —23.4 | -23.4 [ -32.4 | -32.4 | -50.3 | -50.3 | -19.1 | -19.1
JUIN 56| 56| -1.8| -1.8| -4.4| -4.4|-186|-186| —6.3| —6.3| -3.5| -3.5|-29.3|-29.3| -4.6| -4.6
Faxk HRBESAGTELES IRIEER(—)E) 3 (BAI=9%)
BH& .
X i LHER Z 7 m R | comsmz | BT RR yoeR ot mfa%
A B A B A B A B A B A B A B A B A B
2 H -10| -14| -45| -49| 09| 05| 35| 33| 39| -43(-245|-248| -68| -72|-143|-143| -76| -7.9
104 0.1 01| -27| -27 1.8 18| 59| 59| -45| -45|-266|-266(-10.1 | -10.1 | -17.4 | -174| -9.1 | -9.1
i 75| 75| -5.0| -5.0|-15.9|-15.9| -5.0| -5.0| -3.6| -3.6|-22.6|-22.6| -4.9| -4.9|-70.4|-70.4 | -28.9 | -28.9
& -10.1 [ -10.1 | -13.2 [ -13.2 | -10.8 [ -10.8 | -13.5 | -13.5| -7.2| -7.2| -27.0 [ -27.0 | -20.7 [ -20.7 | -3.5| -3.5|-17.8 | -17.8
T 81| 81| -0.2| -02| 136 13.6| 19.7| 19.7 1.0 1.0 | —24.4 | -24.4 | -12.8 | -12.8 | -34.4 | -34.4 | -6.3| -6.3
il 29| 29| o.1 0.1 98| 98| 66| 66| -53| -5.3]|-27.6|-27.6| -9.1| -9.1|-26.1[-26.1| -4.8| -4.8
&R -8.0| -80| -47| -47| -0.8| -08| -5.1| -5.1|-16.8|-16.8|-20.2|-20.2| 24.5| 245 -02| -0.2| -9.0| -9.0
e 77| -77| 38| -3.8| 85| 85| 24| 24|-19.1]-19.1|-32.7|-32.7| -5.3| -53| -9.8[ -9.8|-18.9|-18.9
NI 73| 73| 64| 64| -9.3| -9.3| 55| -55| -8.1| -8.1|-30.0|-30.0| -6.0| -6.0| 21.4| 21.4| -7.6| -7.6
() -0.8| -08| 00| 00| -26| 26| 00| 00| 05| 05]|-13.5|-13.5|-19.9|-19.9| -7.2| -7.2| 4.0| 4.0
JE 77| -77| -3.3| -3.3| 65| 65| -42| -4.2|-14.2|-14.2|-35.5|-35.5| -12.1 | -12.1 [ -35.1 [ -35.1 | —30.0 | —30.0
(1] -06| -06| -04| 04| -3.9| -39| -03| -03| 3.3| 3.3|-27.5|-27.5| 0.8| 0.8[-19.8[-19.8]-10.0]|-10.0
oMtstomE| 31| -42| -74| -83| -12| -23| -14| -22| -27| -41|-203]|-213 35 17| -49| 51| -48| -57
JeiE 24| 24| -3.6| -3.6| -49| -49| -9.3| -9.3| 12.0| 12.0|-51.6 [ -51.6 | -5.5| -5.5|-26.4 | -26.4 | -16.2 | -16.2
Hk 69| 69| -55| -5.5| 12.6| 12.6| 1.4 1.4 -19.5|-195 | -15.7| -15.7| 9.0| 9.0|-10.8|-10.8 [ -13.5 [ -13.5
BE 34| -58| -88|-10.9| -3.7| -5.9| -2.2| -4.0| -0.2| -3.1|-23.4|-25.1 3.3 0.6 1.6 04| -6.3| -86
R 42| -42| -49| -49| -15| -15| 68| 6.8]|-13.0|-13.0|-12.6|-12.6| 33| 3.3|-17.3[-17.3]| -0.9| -0.9
bli- -3.0( 30| 68| 68| 0.2 02| -32| -32| -0.3| -0.3|-21.2|-21.2| 14.0| 14.0| -85| -85| —6.0| —6.0
iE 6.4 | -6.4|-13.6|-13.6| -3.1| -3.1 1.7 17| -17| -1.7|-22.2|-22.2]-18.9|-18.9 | -11.4 | -11.4 | -18.2 | -18.2
eS| -11.4 | -11.4 | -15.8 | -15.8 | -7.9| -7.9| -0.6| -0.6 [ -15.8 [ -15.8 | -34.7 | -34.7 | -20.2 | -20.2 | -17.1 [ -17.1 | -9.1| -9.1
JLIN 35| 35| 07| 07| 41| 41| -10| -1.0| 79| 79| -94| 94| -04]| -0.4]| 12.0| 12.0| 7.1 7.1




